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I. Thong tin chung

Tén hoc phan: | F3- Ké toan tai chinh 2 (ACCA)
M4 hoc phan: | 72ACCT30202 S tin chi: | 2
M4 nhém 16p hoc phan: | 233_71ACCT30202_01,02
Hinh thire thi: Triac nghiém két hop Tw luan Thoi gian lam bai: | 60 | phat
Thi sinh khéng dwet tham khdo tai [1Cé Khéng
ligu
1. Format dé thi
- Font: Times New Roman
- Size: 13

- Tén cac phuong an Iya chon: in hoa, in dam

- Khong sir dung nhay chir/sé ty dong (numbering)

- Méc dinh phuong an ding lu6n luon 1a Phuong an A ghi ANSWER: A

- Tong sb cau hai thi:

- Quy udc dit tén file dé thi:

+ M4 hoc phan_Tén hoc phan_Ma nhém hoc phan_ TNTL_De 1

+ M4 hoc phan_Tén hoc phan_M4& nhém hoc phan TNTL De 1 Ma dé (Néu si# dung
nhiéu ma dé cho 1 lan thi).

2. Giao nhan aé thi

Sau khi kiém duyét dé thi, dap an/rubric. Trwéng Khoa/B$ mén gui dé thi, dap an/rubric
vé Trung tam Khao thi qua email: khaothivanlang@gmail.com bao gom file word va file pdf
(nén lgi va dat mgt khau file nén) va nhan tin + ho tén nguoi g qua sé dién thoai
0918.01.03.09 (Phan Nhat Linh).
- Khuyén khich Giang vién bién soan va nop dé thi, dap an bang File Hot Potatoes. Trung
tam Khao thi giri kém File cai dit va File hudng dan sir dung dé hd tro Quy Thay C6.
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I1. Cac yéu cau cia dé thi nhim dap &ng CLO
(Phan nay phdi phdi hop véi thdng tin tir dé ciong chi tiét cua hoc phan)

BM-003

Ky Néi dung CLO Hinh | Trongsé CLO | Cau |Piém | Lay dirliéu
hiéu thirc trong thanh héi | sb do lwdng
CLO danh phin danh gia | thisd | toi mirc dat

gia (%) da PLO/PI

(1) ) 7 (3) (4) (5) | (6) ()

CLO1 | Van dung chuan| Trac 20% Caul | 05
muc ké toan quédc té | nghiém Cau2 | 05
(1AS), chuan muc Cau3 | 05
lap béo cao tai chinh Caud | 05
quéc té (IFRS) lién PLO1/PI1.1
quan dé ghi nhan
cac nghiép vu kinh
té phat sinh trong t6
chuc
CLO2 |Vvan dung chuan | Tu luin 20% cau5 | 0,5
muc ké toan quéc té Cau6 | 0.5
(1AS), chuan muc Caull| 1
lap bao céo tai chinh
quéc té (IFRS) lién PLO/PIL.L
quan lap va trinh
bay bdo céo tai
chinh
CLO3 | Lap bao cao tai| Tu luan 20% Caull| 2
chinh cong ty doc
lap va bao céo tai
chinh hop nhat theo PLO4/P14.1
ding quy dinh
chuan muc ké toan
qudc té
CLO4 | Van dung tw duy| Trac 20% Caull| 2
phan bién khi lap | nghiem
cac chi tiéu trén bao
cao taichinh cua PLOS/PI8.1
doanh nghi¢p doc
lap, bao céo tai
chinh hop nhat mot
cach thanh thao
CLO5 | Thé hién tuan tha | Tric 20% Cau7 | 05
dao duc nghé nghiép | nghiem Caus8 | 05 | PLO9/PI9.2
khi giai quyét cac Cau9 | 0,5
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Ky Néi dung CLO Hinh | Trongsé CLO | Cau |Piém | Lay dirliéu
hiéu thirc trong thanh héi | sb do lwdong
CLO danh | phan danh gia | thisé | tdi mirc dat

gi4 (%) da PLO/PI
tinh huéng néu ra Caul10| 05
trong hoc phan

Cha thich cac cot:

(1) Chi li¢t ké cdc CLO dwoc danh gid boi dé thi két thic hoc phan (tuwong vmg nhir da mé
td trong dé cuwong chi tiét hoc phan). Luu y khéng dwa vao bang nay cac CLO khong dung
bai thi két thlic hoc phan d@é danh gid (cé mét sé CLO dwoc bo tri danh gid bang bai kiém tra
giga ky, danh gid qua dw én, dé &n trong qua trinh hoc hay cac hinh thire danh gia qua trinh
kh&c chir khdng bé i danh gid bang bai thi két thic hoc phan). Trirong hop mét sé CLO vira
dwoC 06 tri danh gid qud trinh hay giira Ky Vira dwoc bé tri danh gid két thic hoc phan thi
van duwa vao cét (1)

(2) Néu ngi dung cua CLO tuong ung.

(3) Hinh thizc Kiém tra ddnh gid cé thé 1a: trac nghiém, ti lugn, duw dn, do an, van dap,
thirc hanh trén may tinh, thuc hanh phong thi nghiém, bao céo, thuyét trinh, ..., phit hop Véi
ngi dung ciia CLO va md td trong dé cuwong chi tiét hoc phan.

(4) Trong sé mize dé quan trong cua tirng CLO trong dé thi két thic hoc phan do gidng
vién ra dé thi quy dinh (mang tinh twong déi) trén co sé Mire dé quan trong cua ting CLO.
Pay la co sé dé phan phai ty 1é % sé diém toi da cho cdc cdu héi thi ding dé danh gid cdc
CLO twong 1ng, bao dam CLO quan trong hon thi dwoc danh gid véi diém sé toi da lom hon.
Cét (4) diing dé hé tro cho cét (6).

(5) Liét ké c&c cau hdi thi sé (cau héi 6 ... hodc tir cAu héi s6... dén cau héi so...) ding
dé kiém tra nguoi hoc dat cac CLO twong 1ing.

(6) Ghi diém s6 téi da cho méi cau hai hogc phan thi.

(7) Trong truong hop ddy la hoc phan cot 18i - sir dung két qud ddanh gid CLO cua hang
twong g trong bang dé do heong danh gid mire do nguwoi hoc dat droc PLOIPI - can liét ké
ky hiéu PLO/PI ¢6 lién quan vao hang tiwong iing. Trong dé cwong chi tiét hoc phan ciing can
mo td r6 CLO twong ing cua hoc phan nay sé dioc sir dung lam di liéu dé do lwong danh
gid cdc PLO/PI. Truong hop hoc phan khong ¢ CLO nao phuc vu viée do luong danh gid
mize dat PLO/PI thi dé trong cét ny.

I11. N§i dung cau héi thi

PHAN TRAC NGHIEM (10 cau x 0,5 diém)

Random 1 trong 2 cau sau:

Cau la@CLO1

The Panen Co own 30% of the ordinary shares of Siemens Co. What is the correct accounting
treatment of the revenues and costs of Siemens Co for reporting period in the consolidated
statement of profit or loss of the Panen group?
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A. 30% of the profit after tax of Siemens Co should be added to Panen’s consolidated profit
before tax
B. The revenues and cost of Siemens Co are added to the revenues and costs of Panen on a
line by line basis
C. 30% of the revenues and costs of Siemens Co are added to the revenues and costs of Panen
on a line by line basis
D. The revenues and costs of Siemens Co are added to the revenues and costs of Panen Co on
a line by line basis, then 70% of the profit after tax is deducted so that only Panen Co’s share
remains in the consolidated accounts
ANSWER: A
Cau 1b@CLO1
The Panen Co own 40% of the ordinary shares of Siemens Co. What is the correct accounting
treatment of the revenues and costs of Siemens Co for reporting period in the consolidated
statement of profit or loss of the Panen group?
A. 40% of the profit after tax of Siemens Co should be added to Panen’s consolidated profit
before tax
B. The revenues and cost of Siemens Co are added to the revenues and costs of Panen on a
line by line basis
C. 40% of the revenues and costs of Siemens Co are added to the revenues and costs of Panen
on a line by line basis
D. The revenues and costs of Siemens Co are added to the revenues and costs of Panen Co on
a line by line basis, then 60% of the profit after tax is deducted so that only Panen Co’s share
remains in the consolidated accounts
ANSWER: A
Random 1 trong 2 cau sau:
Céau 2a@CLO1
Mercedes Co has created and owned 80% of Benz Co. Pre-acquisition retained earnings was
zero. At 31 March 20X9 extracts from their individual statements of financial position were
as follows

Mercedes Co Benz Co

$ $
Share capital 100,000 50,000
Retained earnings 450,000 100,000

550,000 150,000
During the year ended 31 March 20X, Benz Co has sold goods to Mercedes Co for $50,000.
Mercedes Co still had 50% of these goods in inventory at the year end. Benz Co uses a 25%
mark-up on all goods.
What were the consolidated retained earnings of Mercedes Group at 31 March 20X9?
A. $526,000
B. $565,000
C. $545,000
D. $542,500
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ANSWER: A

Céau 2b@CLO1

Mercedes Co has created and owned 70% of Benz Co. Pre-acquisition retained earnings was
zero. At 31 March 20X9 extracts from their individual statements of financial position were
as follows

Mercedes Co Benz Co

$ $
Share capital 100,000 50,000
Retained earnings 450,000 100,000
550,000 150,000

During the year ended 31 March 20X, Benz Co has sold goods to Mercedes Co for $50,000.
Mercedes Co still had 50% of these goods in inventory at the year end. Benz Co uses a 25%
mark-up on all goods.

What were the consolidated retained earnings of Mercedes Group at 31 March 20X9?

A. $516,500

B. $514,000

C. $524,500

D. $544,000

ANSWER: A

Random 1 trong 2 cau sau:

Céau 3a@CLO1

On 30 June 20X2, a company had $1m 8% loan notes in issue, interest being paid half-yearly
on 30 June and 31 December.

On 1 April 20X3 the company issued $500,000 7% loan notes, interest payable half-yearly
on 31 March and 30 September.

What figure should appear in the company’s statement of profit or loss for interest expenses
in the year ended 30 June 20X3?

A. $88,750

B. $85,750

C. $85,833

D. $70,750

ANSWER: A

Cau 3b@CLO1

On 30 June 20X2, a company had $1m 8% loan notes in issue, interest being paid half-yearly
on 30 June and 31 December.

On 1 April 20X3 the company issued $600,000 7% loan notes, interest payable half-yearly
on 31 March and 30 September.

What figure should appear in the company’s statement of profit or loss for interest expenses
in the year ended 30 June 20X3?

A. $90,500

B. $87,750

C. $87,000

D. $72,500
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ANSWER: A
Random 1 trong 2 cau sau:
Cau 4a@CLO1
On 31 December 20X0 the inventory of Hiuan was completely destroyed by fire. The
following information is available:
1 Inventory at 1 December 20X0 at cost $28,400
2 Purchases for December 20X0 $49,600
3 Sales in December 20X0 $64,800
4 Standard gross profit percentage on sales revenue 32%
Based on this information, which of the following is the amount of inventory destroyed ?
A.  $33,936

B. $61,800
C. $29,486
D. $19,440
ANSWER: A

Céau 4b@CLO1
On 31 December 20X0 the inventory of Hiuan was completely destroyed by fire. The
following information is available:
1 Inventory at 1 December 20X0 at cost $28,400
2 Purchases for December 20X0 $49,600
3 Sales in December 20X0 $64,800
4 Standard gross profit percentage on sales revenue 30%
Based on this information, which of the following is the amount of inventory destroyed ?
A, $32,640

B. $55,320
C. $35,880
D. $19,446
ANSWER: A

Random 1 trong 2 cau sau:
Cau 5a @CLO2
A company has the following extract from a statement of financial position.

20X8 20X7
Share capital 3,000,000 2,000,000
Share premium 500,000 0
Loan notes 1,800,000 3,000,000

What is the cash flow from investing activities for the year?
A. not enough information is provided

B. $500,000 inflow

C. $300,000 outflow

D. $300,000 inflow

ANSWER: A

Cau 5b@CLO2
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A company has the following extract from a statement of financial position.

20X8 20X7
Share capital 3,000,000 2,000,000
Share premium 700,000 0
Loan notes 1,800,000 2,000,000

What is the cash flow from investing activities for the year?

A. not enough information is provided

B. $1,500,000 inflow

C. $1,500,000 outflow

D. $1,700,000 outflow

ANSWER: A

Random 1 trong 2 cau sau:

Cau 6a@CLO2

At 30 June 20X2 a company's capital structure was as follows:

Ordinary share capital

500,000 shares of 25¢ each $125,000

Share premium account $100,000

In the year ended 30 June 20X3 the company made a rights issue of one share for every two
held at $1 per share and this was taken up in full. Later in the year the company made a bonus
issue of one share for every five held, using the share premium account for the purpose.
What was the company's capital structure at 30 June 20X3?

Ordinary share capital Share premium account
$ $
A. 225,000 250,000
B. 225,000 325,000
C. 212,500 262,500
D. 450,000 25,000
ANSWER: A

Cau 6b@CLO2

At 30 June 20X8 the capital structure of a company was as follows:

Ordinary share capital

200,000 shares of 50c each $100,000

Share premium account $180,000

During 20X9 the company made a bonus issue of one share for every two held, using the
share premium account for the purpose, and later issued for cash another 50,000 shares at 80c

per share.
What is the company's capital structure at 31 December 20X2?
Ordinary share capital Share premium account
$ $
A 175,000 145,000
B. 175,000 245,000
C. 245,000 175,000
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D. 145,000 175,000

ANSWER: A

Random 1 trong 2 cau sau:

Cau 7a@CLO5

Which one of the following statements is correct under IAS 7 Statement of Cash Flows?

A. A business may make a profit but have negative cash flow.

B. If a business makes a loss, it has negative cash flow.

C. If a business makes a profit, it has positive cash flow.

D. A business that breaks even has cash inflows equal to cash used.

ANSWER: A

Cau 7b@CLO5

Which one of the following statements correctly identifies a valid disadvantage to users of
financial statements of the statement of cash flows?

A. There is an opportunity to reclassify some cash outflows that might have been reported in
the operating section as investing cash outflows.

B. Under IAS 7 Statement of Cash Flows, an entity may use any format for their statement.
C. Under IAS 7 Statement of Cash Flows the statement of cash flows may cover a different
period of time to the other financial statements.

D. Cash flow figures are more open to manipulation than the profit figure.

ANSWER: A

Random 1 trong 2 cau sau:

Cau 8a@CLO5

IAS 10 Events After the Reporting Period regulates the extent to which events after the
reporting period should be reflected in financial statements. Which one of the following lists
of such events consists only of items that, according to IAS 10, should normally be classified
as non-adjusting?

A. Changes in foreign exchange rates, major purchases of non-current assets

B. Insolvency of an account receivable which was outstanding at the end of the reporting
period

C. Destruction of a major non-current asset by fire, discovery of fraud or error which shows
that the financial statements were incorrect

D. Sale of inventory which gives evidence about its value at the end of the reporting period,
issue of shares or loan notes

ANSWER: A

Cau 8b@CLO5

IAS 10 Events After the Reporting Period regulates the extent to which events after the
reporting period should be reflected in financial statements. Which one of the following lists
of such events consists only of items that, according to IAS 10, should normally be classified
as non-adjusting?

A. Issue of shares or loan notes, changes in foreign exchange rates

B. Insolvency of an account receivable which was outstanding at the end of the reporting
period, an acquisition of another company
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C. An acquisition of another company, discovery of fraud or error which shows that the
financial statements were incorrect

D. Sale of inventory which gives evidence about its value at the end of the reporting period,
destruction of a major non-current asset by fire

ANSWER: A

Random 1 trong 2 cau sau:

Cau 9a @CLO5

According to the illustrative financial structure in IAS 1 Presentation of financial statements,
where should dividends payable at the year end be presented?

A Statement of financial position

B Statement of changes in equity

C Statement of profit or loss and other comprehensive income

D None of these

ANSWER: A

Cau 9b @CLO5

Which one of the following items does NOT appear under the heading 'equity and reserves'
on a company statement of financial position required by IAS 1 Presentation of Financial
Statements?

A Loan notes

B Retained earnings

C Revaluation surplus

D Share premium account

ANSWER: A

Random 1 trong 2 cau sau:

Cau 10a@CLO5

Which of the following statements about the requirements of 1AS 37 Provisions, Contingent
Liabilities and Contingent Assets are correct?

1 A contingent asset should be disclosed by note if an inflow of economic benefits is probable.
2 No disclosure of a contingent liability is required if the possibility of a transfer of economic
benefits arising is remote.

3 Contingent assets must not be recognised in financial statements unless an inflow of
economic benefits is virtually certain to arise.

A All three statements are correct

B 1 and 2 only

C land 3only

D 2 and 3 only

ANSWER: A

Cau 10b@CLO5

Which of the following statements is/are correct?

1 IAS 37 requires disclosure in the notes to the financial statements of the uncertainties
affecting the outcome of a provision
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2 1AS 10 requires disclosure of the nature and financial effect of a non-adjusting event after
the reporting period in the notes to the financial statements

A Both 1 and 2

B 2 only

C lonly

D Neither 1 or 2

ANSWER: A

PHAN TU LUAN (5,0 diém)

Cau 11a@CLO2-3-4

You are presented with the following trial balance of Alpha, a limited liability company, at
31 December 20X3. All tasks are related to each other.

Task 1 - 2 diém: Do each of these items belong on the statement of financial position
(SOFP) as at 31 December 20X3 (enter X in the correct option for each row).

On Not on
DEBIT | CREDIT | SOFP | SOFP

Sales revenue 5,780
Bank 81
Returns inward 95

Land at cost 740

Trade payables 340
Share premium account 360
Retained earnings at 1 January 20X2 315
Accumulated depreciation - Furniture and

equipment 420
Trade receivables 900

Purchases 3,570

7% loan notes 470
Inventory at 1 January 20X2 350

Allowance for receivables at 1 January 20X2 40
Administrative expenses 1,106
Irrecoverable debts 150

Share capital - $0.5 ordinary shares 1,800
Accumulated depreciation - Buildings 360
Buildings at cost 1,500

Furniture and equipment at cost 1,200

Suspense account 355

Total 9,966 9,966

Task 2 - 1 diém

The loan notes interest paid of $355 has only been recorded in the bank account.
Prepare the doube entry by entering X in the correct option for each row.

DEBIT | CREDIT | Neither DEBIT nor CREDIT

Bank
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Loan notes interest
Suspense account
Accruals

Task 3 - 1 diém
The closing inventory is $100,000. Prepare the below extracts of statement of profit or loss
for Alpha for the year ended 31 December 20X3.

Alpha

Statement of profit or loss
for the year ended 31 December 20X3 $'000 | $'000
Revenues

Less: Cost of goods sold
Opening inventory
Purchases

Less: Closing inventory

Gross profit

Task 4 - 1 diém

During October 20X3 a bonus issue of one for ten shares was made to ordinary
shareholders. This has not been entered into the books. The share premium account was
used for this purpose.

Prepare the doube entry by entering X and the amounts ($'000) in the correct option for each
row.

$'000 | DEBIT | CREDIT Neither DEBIT nor CREDIT

Bank

Share capital
Share premium
Retained earnings

Céau 11b@CLO2-3-4
You are presented with the following trial balance of Alpha, a limited liability company, at
31 December 20X3. All tasks are related to each other.

Task 1 - 2 diém: Do each of these items belong on the statement of profit or loss (SPL) for
the year ended 31 December 20X3 (enter X in the correct option for each row).

On Not on
DEBIT | CREDIT | SPL SPL

Sales revenue 5,780
Bank 81
Returns inward 95

Land at cost 1450

Trade payables 340
Share premium account 360
Retained earnings at 1 January 20X2 315
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Accumulated depreciation - Furniture and

equipment 420
Trade receivables 900

Purchases 3,570

7% loan notes 470
Inventory at 1 January 20X2 350

Allowance for receivables at 1 January 20X2 40
Administrative expenses 1,106
Irrecoverable debts 150

Share capital - $0.5 ordinary shares 1,800
Accumulated depreciation - Buildings 360
Buildings at cost 1,500

Furniture and equipment at cost 1,200

Suspense account 355
Total 10,321 10,321

Task 2 - 1 diém

The credit purchases of $355 had not been recorded in the purchases account.
Prepare the doube entry by entering X in the correct option for each row.

DEBIT | CREDIT

Neither DEBIT nor CREDIT

Suspense account

Bank

Purchases

Trade payables

Task 3 - 1 diém

The closing inventory is $100,000. Prepare the below extracts of statement of profit or loss

for Alpha for the year ended 31 December 20X3.

Alpha
Statement of profit or loss
for the year ended 31 December 20X3

$'000 | $'000

Revenues

Less: Cost of goods sold

Opening inventory

Purchases

Less: Closing inventory

Gross profit

Task 4 - 1 diém

During October 20X3 a bonus issue of one for twelve shares was made to ordinary

shareholders. This has not been entered into the books. The share premium account was

used for this purpose.

Prepare the doube entry by entering X and the amounts ($'000) in the correct option for each

row.
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$'000 | DEBIT

CREDIT

Neither DEBIT nor CREDIT

Bank

Share capital

Retained earnings

Share premium

PAP AN PHAN TU LUAN VA THANG PIEM

Tw luan bai 11a@CLO2-3-4

5.0

Ghi
chu

TASK 1

Sales revenue

Bank

Returns inward

Land at cost

Trade payables

Share premium account

Retained earnings at 1 January 20%X2

Accumulated depreciation - Furniture and equipment

Trade recefvables

Purchases

7% loan notes

Inventory at 1 January 20X2
Allowance for recelvables at 1 January 20X2
Administrative expenses
Irrecoverable debts

Share capital - 50.5 ordinary shares
Accumulated depreciation - Buildings
Buildings at cost

Furniture and equipment at cost
Suspense account

DEBIT CREDIT On SOFP  Not on SOFP
5,780 X
81 X
95 X
740 X
340 X
360 X
315 X
420 X
00 X
3,570 X
470 X
350
40
1,106
150

C ML

1,800
360
1,500
1,200
355 X

.

-

2.0

TASK 2

Bank

Loan notes interest
Suspense account
Accruals

DEBIT CREDIT Neither DEBIT nor CREDIT
X

X

1.0

TASK 3

Alpha

Statement of profit or loss

for the year ended 31 December 20X3
Revenues

Less: Cost of goods sold

Opening inventory

Purchases

Less: Closing inventory

Gross profit

$'000 $'000

5,780

350
3,570
100
3,820
1,960

1.0

TASK 4

$'000

Bank

Share capital
Share premium
Retained earnings

Nelther DEBIT nor CREDIT
%

DEBIT CREDIT

180 X
180 X

1.0

Piém tong

5.0

Tu luan bai 11b@CLO2-3-4
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TASK 1

Sales revenue

Bank

Returns inward

Land at cost

Trade payables

Share premium account

Retained earnings at 1 January 20x2

DEBIT

1450

Accumulated depreciation - Furniture and equipment

Trade receivables

Purchases

7% loan notes

Inventory at 1 January 20x2
Allowance for receivables at 1 January 20x2
Administrative expenses
Irrecoverable debts

Share capital - $0.5 ordinary shares
Accumulated depreciation - Buildings
Buildings at cost

Fumniture and equipment at cost
Suspense account

3,570

1,106

1,500
1,200

10321

CREDIT

5,780
81

340
360
315
420

470

40

1,800
360

355
10321

On SPL

Not on SPL
X
X

X X X X X X

>x X x

X X X X X

2.0

TASK 2

Suspense account
Bank

Purchases

Trade payables

DEBIT

CREDIT
X

Neither
DEBIT nor
CREDIT

1.0

TASK 3

'Alpha
|Statement of profit or loss

for the year ended 31 December 20X3

Revenues

Less: Cost of goods sold
Opening inventory
Purchases {$3570 + $355)
Less: Closing inventory

Gross profit

$'000

$'000
5,780

350
3,925
100

4,175
1,605

1.0

TASK 4

$'000

Bank
Share capital
Retained earnings

|Share premium

DEBIT

150

150 X

CREDIT

Neither
DEBIT nor
CREDIT

X

1.0

Piém tong

5.0

Ngudi duyét dé

TP. Hé Chi Minh, ngay 7 thang 7 ndm 2024
Giang vién ra dé
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Nguyén Thi Thu Vén Hoang Thuy Diéu Linh
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